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38,000,000& 38,000
= 38,000
Ot I3 S AMR=E 212H|
24,000,000 24,000
Al 12,000
T 12,000
OUet= 28 SXE ALR=E 12|
6,000,000& 6,000
= 6,000
Oligt=0lsl S 1X=1d &=t
1,000,000& * 12& 12,000
Al 6,000
- 6,000
1 AMISXAIEE X 13,500 13,500 0
Olet= 23S 7XIE SKIAL 13,500
o024 oot =2 6,800,000 6.800
= 6,800
oHZEI Y LA Ast
3,000,000 3,000
= 3,000
oL QlMENEUE S 3,700,000& 3,700
= 3,700
o=k 24 1,258,032 1,255,139 2,893
Al 867,184
- 366,848
= 24,000




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,258,032 1,203,139 54,893
Al 867,184
- 366,848
= 24,000
05 2ItRIE = 1,258,032 1,203,139 54,893
Oel=k2 12| 633,367,000 633,367
Al 443,357
T 190,010
Okel=k2 2ghl 117,840,000 117,840
Al 82,488
- 35,352
OLo=k2za 22|
392,859,000 392,859
Al 275,001
- 117,858
OokoisiZ=zd 24| 78,760,000 78,760
Al 55,132
- 23,628
OBAL SXEIE 100,000 20 2,000
Al 2,000
OSALARE A+ 2= 9,206,000& 9,206
Al 9,206
ORIZFALSI S XA MK
100,000& «20E * 123 24,000
= 24,000
d=2g 28 N2 137,960 116,320 21,640
Al 34,560
- 23,040
= 80,360
201 2= 640 0 640
= 640
01 AtR2t2|HI 640 0 640
OXNSHSAEE 258 & AES HH
640,000& 640
= 640
301 EtE N = 19,200 0 19,200
= 19,200
14 JIEt2 8= 19,200 0 19,200
OXSESAXN =& &=l X=
50,0002 x32H * 12& 19,200
= 19,200
307 lztol & 115,620 113,820 1,800
Al 34,560
- 23,040




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 58,020
10 Al SXAZEE 22X 115,620 113,820 1,800
ogdzg 29 Xz 57,600,000& 57,600
Al 34,560
- 23,040
oZzd 24 & 58,020,000 58,020
= 58,020
308 XM SOIE 2,500 2,500 0
= 2,500
14 IIEtR8s 2,500 2,500 0
OZ2Y =] 2= =
2,500,000 2,500
= 2,500
dE Z2Y X 6,950 6,950
301 LEtE N = 6,950 6,950
02 A2 XSG (FHAAHS, NLWE) 6,950 6,950
OZE(4, F4)22¢ &
6,950,000 6,950
Z2Y T2 2| X BiXIAF 41,181 38,964 2,217
Al 20,091
- 20,090
= 1,000
307 @120l & 41,181 38,964 2,217
Al 20,001
- 20,090
= 1,000
10 Al SAAEEHE 22X 41,181 38,964 2,217
OZ=2E=2Z2 18 2e|At XA
40,181,000 40,181
Al 20,091
- 20,090
OZZ2E=s|Z2 & 2e|X BESFIHI
500,000& 22 1,000
= 1,000
2 HEAY 10,000 11,000 A1,000
Al 5,000
- 5,000
307 elztol & 10,000 11,000 A1,000
Al 5,000
- 5,000
10 Al SXAAIEEHE2EHI2x 10,000 11,000 21,000
OZ=dg gdatite 10,000,000 10,000
Al 5,000
- 5,000




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot QIS X AR 142,653 138,872 3,781
Al 142,653
307 21201 & 142,653 138,872 3,781
Al 142,653
1 AMEISXAIEEXS 142,653 138,872 3,781
CEELSXHH 142,653,0002 142,653
Al 142,653
J2g dutddl & =8 X 76,280 77,460 1,180
= 38,140
Al 19,070
- 19,070
307 glztol & 76,280 77,460 1,180
= 38,140
Al 19,070
- 19,070
10 Al2ISTIAEEE2HIEX 76,280 77,460 1,180
Z2E gl 2 =4 K& 76,280
od2g Hadl N 59,200,000 59,200
= 29,600
Al 14,800
- 14,800
od2g dgd N 10,560,000 10,560
= 5,280
Al 2,640
- 2,640
odzg dFd= A 6,520,000& 6,520
= 3,260
Al 1,630
- 1,630
2 S A 29,000 49,000 /20,000
Al 2,000
T 2,000
= 25,000
401 Al HIZ S 0HHI 14,000 13,000 1,000
Al 2,000
- 2,000
= 10,000
01 AlZ2H| 14,000 13,000 1,000
Odzg e & N - 2=
4,000,000 4,000
Al 2,000
- 2,000




SN OISR
M Lol=XEX
SRl OHEGHD EIIR - SMED|B X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEE S EICIET=E
10,000,000 10,000
= 10,000
405 AHaHE S 15,000 36,000 221,000
= 15,000
01 TR ESFISHI 15,000 36,000 /21,000
A2 W)l S 2Y2E 7Y
15,000,000 15,000
= 15,000
AEEE 2UAA LK (AMLIZZEHH) 65,000 63,430 1,570
Al 5,000
= 60,000
307 212+01& 65,000 63,430 1,570
Al 5,000
= 60,000
05 2ItRIE =2 65,000 63,430 1,570
OAMUNHEEHH 2 XA
5,000,000& 5,000
Al 5,000
OAMUNHEEHH 28 XA
60,000,000 60,000
= 60,000
ALIGIZEE =292 387,770 364,115 23,655
Al 323,011
T 56,359
= 8,400
307 21201 & 387,770 364,115 23,655
Al 323,011
- 56,359
= 8,400
05 212t =S 387,770 364,115 23,655
OAILIGIZEE 212b] 315,166,000 315,166
Al 267,891
- 47,275
OAILIZ2E 2<H| 60,559,000 60,559
Al 51,475
T 9,084
OSBAHF SXIREE 100,000 +7& 700
Al 700
OBALAE Al+2=E 2,945,000 2,945
Al 2,945
ORIZIALSI S XIAF M0
100,000 7« 123 8,400
= 8,400




A JIEE=0
M Lol=XEX
SRl QHNGHL E0|d SdE)|t &Y EERCED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
LOIQIZEXNAIE SAR =XI+E 18,960 25,260 A6,300
Al 16,560
= 2,400
307 212+01™ 18,960 25,260 A6,300
Al 16,560
= 2,400
11 Al =SXAMEES 18,960 25,260 6,300
Lol 2 SXAE SALL SX=E
16,560,000& 16,560
Al 16,560
ORIZIAISI S XIAF MM
100,000 2F 122 2,400
= 2,400
A AL 2t 12,000 11,000 1,000
201 Lt | 4,000 3,000 1,000
01 At 2telt] 4,000 3,000 1,000
O AL S10=
2,000,000 *23| 4,000
301 LerR I 8,000 8,000
02 MBI SR E S (FAHS, XT) 8,000 8,000
ORD AAX Foll
800,000& * 10+ 8,000
22Y A IEH 1,000 1,000
307 212+01™ 1,000 1,000
06 232 1,000 1,000
OZZ2Y IS 1,000,000& 1,000
CeMETE 24 3,800 3,800
201 L2 | 3,800 3,800
01 At 22!l 3,800 3,800
OLoIES=sMHIA A5 &4
100,000& *3H *23| 600
OFIIQ2I|2 NI SadxE
100,000 x4 H*43] 1,600
OHZUH=TAl =R &Y
100,000 *7 B *13] 700
OLoldTtelAt AloRde EasH
100,000& x4 H * 13| 400
ORIz S JIEt2g| 500,000& 500
Lolg|z A= 400,000 1,030,000 A630,000
401 AIEHIZ 2018 400,000 1,030,000 A630,000
01 AlEHI 400,000 1,030,000 AB630,000
OLolg|2 Mx(8H28Y)
400,000,000& 400,000
HASE MEtEXIA 70,000 110,000 40,000
= 63,000

_21_




FA OIES
M Lol=XEX
e MASS HEUHIXE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,000
MAS 0 (AlE) 70,000 110,000 240,000
= 63,000
Al 7,000
307 21201 & 70,000 110,000 40,000
= 63,000
Al 7,000
10 Al2IS XA EEE 22X 70,000 110,000 240,000
OMASH(AIE) 70,000,000 70,000
= 63,000
Al 7,000
oS - 344 25 |4 3,652,812 3,580,032 72,780
= 1,143,654
= 34,366
Jl 13,888
Al 1,132,180
- 938,429
= 30,295
OtS=Al efd 2,677,762 2,670,010 7,752
= 839,718
= 394,366
) 9,590
Al 887,257
T 516,536
= 30,295
(e ==PPN 8,100 6,100 2,000
201 2= 6,100 4,100 2,000
01 Al 22IH| 6,100 4,100 2,000
OOIEBASIRE EMSY
100,000& *7 & =12 700
O0ts=Xgel?del d4+g
100,0002 x 11233 3,300
O0tssttZ s A=<
100,000&*1& x13] 100
O%dizt oot 2=E =g 2,000
oEZ2=E A 1,800,000& 1,800
SARES 7Y 200,000 200
401 Al HIZ S OHbI 2,000 2,000
01 AlZ2H| 2,000 2,000
OO0&l0I=0IAIE =017 EH]
2,000,000 2,000
OlsSsSii ZAH 33 AHY 5,010 5,010
201 er23 | 4,710 4,710
01 At2teltl 2,000 2,000




SN ISR
T 015 - HAH 25 24
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ootsstth 2= & & 28258 +¢
2,000,000& 2,000
02 S3=gHl 2,710 2,710 0
Oltssttidgs:a sUHds R
40,00024+2CH+ 122 960
QOIS &t 212 5H(1391) S|
10,0002« 12& 120
Ootsslh EUsS dSAHE Rl
50,0002 123 600
OXsxt 282 900,000 900
OXIS XAl 130,000 130
307 elztol & 300 300
0192 & 3=H| 300 300
Ostiiulohoty 2l=tl 300,000 300
OS2 MERE A 8,645 11,645 23,000
= 4,000
Al 500
- 500
= 3,645
201 fer= 3| 3,000 4,000 21,000
[ 2,400
Al 300
- 300
01 Al 22| 3,000 4,000 1,000
OLRHSIt W24, o] L DEERY)
JIEt 2&8I 3,000,000 3,000
[ 2,400
Al 300
- 300
202 048l 3,120 3,120 0
= 3,120
01 2LHoIH 3,120 3,120 0
OSZ I (AL RS IIH)
20,0002 x132/* 123 3,120
= 3,120
204 APt AH| 525 525 0
= 525
2 S3E =34l 525 525 0
OtjelgtsHI (Al TR DIAI)
50,0002 *35/40A1 2+ 12 525
= 525
301 LEtE NS 2,000 4,000 A2,000
[ 1,600
Al 200
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A JIEE=0
M Otz - Ead B |4
s OlS=A gy EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 200
01 A BEAH 2 (RRNEETR) 2,000 4,000 A2,000
O2ozdl, MHlA SAHMSHI, JIEHXI&HI
2,000,000 2,000
s 1,600
Al 200
- 200
IHERAE 25 XA 19,000 15,400 3,600
Al 13,300
- 5,700
301 LBBNZ 19,000 15,400 3,600
Al 13,300
- 5,700
02 MBI EZAG2(HUAS, XLTHEA) 19,000 15,400 3,600
Ogs< 18,000,000 18,000
Al 12,600
- 5,400
O=3+4l 1,000,000& 1,000
Al 700
- 300
M=0t SHl K& 12,000 12,000 0
= 8,400
Al 3,600
301 LetENEZ 12,000 12,000 0
= 8,400
Al 3,600
01 A BE X2 (2 REETA) 12,000 12,000 0
ONMZIHERE d20tsESH]
12,000,000& 12,000
= 8,400
Al 3,600
220ts IHE K& 13,700 8,676 5,024
| 9,590
Al 4,110
301 LetENEZ 13,700 8,676 5,024
| 9,590
Al 4,110
01 A BE X2 (2 REETE) 13,700 8,676 5,024
Ogs= 13,700,000& 13,700
J| 9,590
Al 4,110
2 JIERAE 0t delxlz K& 2,160 0 2,160
= 1,512
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SN ISR
T 015 - HAH 25 24
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 648
301 EtE NS 2,160 0 2,160
= 1,512
Al 648
01 Al E2E AL S(FRDEXMA) 2,160 0 2,160
O - JIdLIEOls Alelxlg X
2,160,000 2,160
= 1,512
Al 648
2SE520s MNEsE 96,000 73,750 22,250
= 76,800
Al 19,200
301 EtE NS 96,000 73,750 22,250
= 76,800
Al 19,200
01 Al 2E A S(FRNEXMA) 96,000 73,750 22,250
Ooltg+=¢ 96,000,000 96,000
= 76,800
Al 19,200
OrsEE XA %t 108,571 136,207 N27,636
= 76,000
Al 32,571
301 EtE N = 108,571 136,207 NZ27,636
= 76,000
Al 32,571
01 Al EE A S (2 RNEXMA) 108,571 136,207 N27,636
OOtsZE XN A2 K&
108,571,000 108,571
= 76,000
Al 32,571
RESNE 88 23 (EX) 134,740 128,720 6,020
= 53,896
Al 80,844
307 elztol & 134,740 128,720 6.020
= 53,896
Al 80,844
10 AlISXAZEHE 22X 134,740 128,720 6,020
OossdEiny 29 XN
134,740,000 134,740
= 53,8%6
Al 80,844
LES0ts 188 XN¥ 57,867 45,759 12,108
Al 53,067
= 4,800
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SN ISR
B Ol - AW 25 S4
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ots=+g 778,460 973,750 A195,290
= 622,760
Al 108,990
- 46,710
301 2eEN= 778,460 973,750 195,290
= 622,760
Al 108,990
- 46,710
01 Al EEHS(FRDEXMH) 778,460 973,750 195,290
Ooots=¢ 778,460,000 778,460
= 622,760
Al 108,990
- 46,710
Ots=¢ XIXHAIY 29 500 500 0
= 350
Al 150
201 2= 500 500 0
= 350
Al 150
01 AlR2telHl 500 500 0
O0ts=g XNAHAE 28
500,000 500
= 350
Al 150
ANS0tSHE 249Hl XA 54,768 271,980 N217,212
[ 27,384
Al 13,692
- 13,692
307 el2to| & 54,768 271,980 N217,212
[ 27,384
Al 13,692
- 13,692
10 Al SXAAIEEHE 22X 54,768 271,980 N217,212
OXEotsHE =gl K&
54,768,000& 54,768
[ 27,384
Al 13,692
T 13,692
NSotsSHE eldd] X 268,128 0 268,128
= 134,064
Al 67,032
T 67,032
307 glztol & 268,128 0 268,128
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A OSSN
MM Ols - HAW ©5 S|4
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 134,064
Al 67,032
- 67,032
10 Al SXAEEE 22X 268,128 0 268,128
OXY0tsHy 124l K&
268,128,000 268,128
= 134,064
Al 67,032
- 67,032
S==8E NA0tsdH FIOHXI# 14,748 14,616 132
= 7,374
Al 3,687
- 3,687
307 @120l & 14,748 14,616 132
[ 7,374
Al 3,687
- 3,687
11 AMEISXAIEEXS 14,748 14,616 132
OS42x8 XAOISHE EIHT2
14,748,000 14,748
[ 7,374
Al 3,687
- 3,687
EQEZ AF0tsdH SOt 10,888 10,944 VNG
[ 5,444
Al 2,722
- 2,722
307 elztol & 10,888 10,944 ABB
= 5,444
Al 2,722
T 2,722
11 AMEISXAEEE 10,888 10,944 aNGs)
OER2Y XNF0tsHE =
10,888,000& 10,888
= 5,444
Al 2,722
- 2,722
NSotsSHE X2 99,886 131,318 A31,432
Al 44,568
- 43,768
= 11,550
307 glztol & 99,886 131,318 A31,432
Al 44,568
T 43,768
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SN ISR
M Ol - HAW 95 84
el OlSSA gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 11,550
11 MEISXAEE 99,886 131,318 A31,432
OXgotsHy Sate 283 7,800
oORIESHE 7,800,000& 7,800
Al 3,900
- 3,900
OXISOtSHIE SALAF XMRIH&H|
67,918,000& 67,918
Al 33,959
- 33,959
OXlgotsHe =208 K&
6,600,000 6,600
Al 3,300
- 3,300
Odtet| 1,380,000& 1,380
Al 690
- 690
OXIS0tSHIE 2I2FAIRISXIAF MMM
100, 00024482 * 122 9,600
= 9,600
OXIHOSHIEl ZAIX =X ZOIE X8
100,000 +8 800
Al 800
OXNSOtSHE HAgtal Al A&
1,950, 0002 1,950
= 1,950
ONHOISHEN BAKX Al 224
3,838,000& 3,838
Al 1,919
- 1,919
NS 0tsHE 2tZoiddl X3 6,000 6,000 0
= 3,000
Al 1,500
- 1,500
307 @120l & 6,000 6,000 0
[ 3,000
Al 1,500
- 1,500
11 MEISXAEE 6,000 6,000 0
OXS0otsHE eZoiedl N
6,000,000 6,000
[ 3,000
Al 1,500
- 1,500
OlSSXILA IHHA(EX) 77,362 73,694 3,668




SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 36,106
Al 18,053
- 18,053
= 5,180
101 @124H| 75,812 72,144 3,668
= 36,106
Al 18,053
- 18,053
= 3,600
04 JIZtN2Z2 XS 2+ 75,812 72,144 3,668
Oots=EXLA BE(EE82RgS, &3
P2 S T 18,053,000 2! *424 72,212
= 36,106
Al 18,053
- 18,053
O=ArelE 300,000& *4H 1,200
= 1,200
O8&d0i= 300,000 x4 H+23] 2,400
= 2,400
201 Let=Ehl 50 50 0
= 50
01 AFR2telHl 50 50 0
O3 (0SS XA 0k=3 XI&
50,0003 50
= 50
202 04| 1,500 1,500 0
= 1,500
01 2L A b 1,500 1,500 0
OSRA (0SS XA EH0H
125,000~ 128 1,500
= 1,500
FAHS OlsSEABIA XIH 118,803 114,302 4,501
[ 91,722
Al 6,879
- 16,052
= 4,150
201 =3 111,603 107,602 4,001
s 85,962
Al 6,447
- 15,044
= 4,150
01 At2teltl 107,603 103,602 4,001
O - =X - E8228 29
98,073,000& 98,073
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SN ISR
3 Ols - 34E 25 |d
s OlS=A gy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 78,458
Al 5,884
= 13,731
OCRIAEIE NgRRI2SH S
9,380,000& 9,380
s 7,504
Al 563
- 1,313
ORI (OtSSEA2t2IAL) OF73l XA
50,0002 34 150
= 150
2 S524g4l 4,000 4,000 0
OEHAEEHH 3323 S
4,000,000 4,000
= 4,000
202 04| 7,200 6,700 500
= 5,760
Al 432
- 1,008
01 2L A LI 7,200 6,700 500
OESAEEAY =& 0]
7,200,000 7,200
[ 5,760
Al 432
- 1,008
CHENEsSdE 18] X 146,544 55,140 91,404
[ 73,272
Al 36,636
- 36,636
307 @120l & 146,544 55,140 91,404
[ 73,272
Al 36,636
- 36,636
10 Al SXAAEEHE 22X 146,544 55,140 91,404
Otighess4dH oid] X3
146,544,000 146,544
[ 73,272
Al 36,636
- 36,636
CreNEsde 238 N3 25,000 7,000 18,000
[ 12,000
Al 6,000
- 6,000
= 1,000
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SN ISR
MM Ols - HAW ©5 S|4
el OIS g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,000 1,000 0
= 1,000
01 AtR2tc|Hl 1,000 1,000 0
OtigNess4dH 23 ?2s s 84 ¢
100,000 10 1,000
= 1,000
307 21201 & 24,000 6,000 18,000
[ 12,000
Al 6,000
- 6,000
10 AlISXAAZEHE 22X 24,000 6,000 18,000
Otighss4dH 248l X3
1,000, 0002 x2JH 2=x 12 24,000
[ 12,000
Al 6,000
- 6,000
CENsSSHE bl XI&(XEM) 19,920 2,440 17,480
Al 10,160
- 9,760
307 212+01& 19,920 2,440 17,480
Al 10,160
- 9,760
10 AlRISTIAIEEE 22X 19,920 2,440 17,480
OUESN=SHE SAHA Al2Eel&
960,000 *2IH A 1,920
Al 960
- 960
OUBMNESZHE EAX HSMWEH 28
8,800,000 «2JH 2 17,600
Al 8,800
- 8,800
OUEN=84E SALL SAZIE
100,000 »2)H A +2H 400
Al 400
F4E B84 514,081 477,779 36,302
= 177,561
Il 1,730
Al 163,658
- 171,132
F4YE dEESs 9,300 9,300
201 er23| 8,200 8,200
01 AtR2t2|HI 8,200 8,200
O34AH dk 2= 1,130
oEE2ESE 900 *500H*22] 900
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SN ISR
T 015 - HiH 25 24
ool 349 2584 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,516
T 8,515
FAEdE=EAME 2SN 163,188 189,012 4,176
Al 81,594
- 81,594
307 gl2to| & 163,188 189,012 4,176
Al 81,594
- 81,594
05 git?(& = 163,188 169,012 4,176
OHAHNEAIY 2|
163, 188,000 163,188
Al 81,594
- 81,594
HaEorde A= AKY X 100,102 98,650 1,452
= 50,051
Al 25,026
- 25,025
307 glztol & 100,102 98,650 1,452
= 50,051
Al 25,026
- 25,025
05 2IR”tRIE = 100,102 98,650 1,452
OFAHMY A 23|
100,102,000 100,102
= 50,051
Al 25,026
- 25,025
FAESEHL ALY 2 X 96,856 76,548 20,308
= 48,428
Al 24,214
- 24,214
307 21201 & 96,856 76,548 20,308
= 48,428
Al 24,214
- 24,214
05 212t =S 96,856 76,548 20,308
OFAESEH ALY 22|
96,856,000 96,856
= 48,428
Al 24,214
- 24,214
HAESEI MY 2E012RE3) XA 11,960 6.,4% 5,464
Al 5,980
- 5,980
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2A: JIsd8s
M Ols - EA4H B |84
&t Had BESs=Y EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,400
- 1,400
307 212+01 A 2,800 2,800 0
Al 1,400
- 1,400
11 AL =SXAMEES 2,800 2,800 0
OXHEAE HOIZIRS SHX|
2,800,000& 2,800
Al 1,400
- 1,400
S g FAEXJEH SAEL M= RI& 2,400 2,400 0
Al 1,200
- 1,200
307 212+01 A 2,400 2,400 0
Al 1,200
- 1,200
02 QIZtAAAIEE R 2,400 2,400 0
Ot % HAEXAHE SAK HLME
=4 X 100,000 x2H 122 2,400
Al 1,200
- 1,200
HAE ZotEs K3 460,969 432,243 28,726
= 126,375
J| 2,568
Al 81,265
- 250,761
H4a4E Z3oE 29 XA 180,000 170,000 10,000
307 212+01 ™ 180,000 170,000 10,000
05 QIZtRIEr S 180,000 170,000 10,000
OF-FEEL T TH]
180,000,000& 180,000
HaE gtE opteIol 29(XIY) 190,602 174,272 16,330
= 95,301
Al 47,650
- 47,651
307 212+01™ 190,602 174,272 16,330
= 95,301
Al 47,650
- 47,651
11 AR SXAMEES 190,602 174,272 16,330
OFAHE 2dts obtuI0l 29 XA
190,602,000& 190,602
= 95,301
Al 47,650




2A: JIsd8s
I OIS - AW 25 |4
el Had 23Es K (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| > 47,651
HaE XA BIXIXI&(KIE) 24,648 23,520 1,128
= 12,324
Al 12,324
307 QIZ2t01 A 24,648 23,520 1,128
= 12,324
Al 12,324
11 AR SXAMEER 24,648 23,520 1,128
O&AYE XIS AF BIXI XI&
24,648,000 24,648
= 12,324
Al 12,324
S3EALE fEHAM Z20329 X3 9,800 9,800 0
307 2I2+0l™ 9,800 9,800
11 AMSISXAIEEX 9,800 9,800
OFALYE EAIE T2 29X
9,800,000& 9,800
NEEHAE 2H0I|? SH(EX) 2,000 2,000 0
= 1,000
Al 1,000
307 212+01™ 2,000 2,000 0
= 1,000
Al 1,000
11 AL =SXAMEES 2,000 2,000 0
OFadE EAd 2ZAJ3 2GS
2,000,000& 2,000
= 1,000
Al 1,000
HAHE HSEOE XS (XH) 20,500 20,500 0
= 8,200
Al 6,150
- 6,150
307 QIZt01 A 20,500 20,500 0
= 8,200
Al 6,150
- 6,150
11 Al =SXAMEES 20,500 20,500 0
OFAYE H=gote XA
20,500,000 20,500
= 8,200
Al 6,150
- 6,150
HAaE s0t2l XN& 23,870 23,870 0
= 9,550
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2A: JIsd8s
I OIS - AW 25 |4
el Had 23Es K (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 7,160
- 7,160
307 212+01 A 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
11 Al SXAMEE X 23,870 23,870 0
O3A4E s0t2l X 23,870,000 23,870
= 9,550
Al 7,160
- 7,160
HAE 2= 0t0l0l ALK XI& 5,880 5,880 0
Al 5,880
307 QI2Hol M 5,880 5,880 0
Al 5,880
02 QIRHHAAIHE B X 5,880 5,880 0
OFAHYNSOHHIOI SAR K&
5,830,000& 5,880
Al 5,880
Had SEXJ 3,669 2,401 1,268
| 2,568
Al 1,101
301 LPENZ 3,669 2,401 1,268
J| 2,568
Al 1,101
01 A BEAH 2 (R RNEETR) 3,669 2,401 1,268
QuaXd, HLXNHS Fad EEXNR
3,669,000 3,669
| 2,568
Al 1,101
AHE2HZH(IISEH=D) 290,552 289,032 1,520
s 132,225
Al 17,366
- 82,766
= 58,195
olE2H| 234,281 226,440 7,841
s 132,225
Al 17,366
- 26,495
= 58,195
OtsSEAtAIZteIAL B 147,245 145,124 2,121
= 91,302
Al 6,848




2A: JIsd8s
M Y 2IZH (OIS
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 15,977
= 33,118
101 2124 d| 131,645 130,904 41
= 78,822
Al 5,912
- 13,793
= 33,118
03 SRH(RINHS) 22X 2+ 131,645 127,343 4,302
OO0tsS At 2e|Al 2 98,527
=Jll2g 2,200,000& 3B+ 122 79,200
= 63,360
Al 4,752
- 11,088
oxARLE 236,840 x3H 12 8,527
= 6,822
Al 512
- 1,193
o EAMEZ 300,000& x3Z *12& 10,800
= 8,640
Al 648
- 1,512
OO0ISSE At LA B4 FHIRE 33,118
oJllE2g 225,6602 x3H5*12& 8,124
= 8,124
oxIIARY 67,8003 «3F 123 2,443
= 2,443
o HEZIH| 1,940,520 *3H 5,822
= 5,822
o Mg A 140,000 x3H » 12 5,040
= 5,040
cHIRSFIIE 1,841,680 *3H 5,526
= 5,526
cItEsY 60,0003 *3H 123 2,160
= 2,160
olistd Tt SHIXIAZ3 300,000& 300
= 300
odtANZ 1,234,330 *3% 3,703
= 3,703
4 HAIRE3S 15,600 14,220 1,380
= 12,480
Al 936
- 2,184
04 SRE(PIIHL) 22X BEERE3 S 15,600 14,220 1,380
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SN iRy
M AHAMHAHI(OIESY=1)
el i Eg| (Gt H2)
SA - BB - SRAGEH) - NS - BES i s
OEE=zRY3a S 1,300,000& <128 15,600
s 12,480
Al 936
- 2,184
Ots= XA o1& 23| 47,803 43,749 4,054
s 14,404
Al 7,202
- 7,202
= 18,99
101 @124H| 39,943 38,521 1,422
s 10,904
Al 5,452
- 5,452
= 18,135
03 SR (I 22N E> 39,943 37,334 2,609
OO0ts=X AL B 21,808
S 21,808,000 21,808
s 10,904
Al 5,452
- 5,452
O0ts=X LA B FHIRE 18,135
=llgs 7,29,920% 7,300
= 7,300
odE FIH| 2,425,600 «80% 1,941
= 1,941
o HMZ A 140,000& « 128 1,680
= 1,680
cHitRsSsIt=E 1,841, 712& 1,842
= 1,842
oJiERY 40,0002 122 480
= 480
o AZtel=E
13,5422+ 150%* 15 A1 2t 122 3,657
= 3,657
oAz 1,234,330& 1,235
= 1,235
M HSRESS 7,860 5,228 2,632
s 3,500
Al 1,750
- 1,750
= 860
04 SRE(RIAHY) 22X BEEERHEZ S 7,860 5,228 2,632
OEE=ERE=a S 7,000,000& 7,000




A OSSN
A HZYRAZHIOISH=1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,500
Al 1,750
- 1,750
O=EgERE= & 860,000 860
= 860
OISE3588RE 2= 39,233 37,567 1,666
[ 26,519
Al 3,316
- 3,316
= 6,082
101 @124H| 39,233 37,567 1,666
s 26,519
Al 3,316
- 3,316
= 6,082
02 JIEtAE = 39,233 37,567 1,666
O0tsE2sHG R (AEEH DA 0H2)
2 33,151
S
36,566,000 / 12x35/40A1 2H+ 128 31,9%
= 25,594
Al 3,201
- 3,201
oAe2eg
9,620& *10A12++ 128 1,155
s 925
Al 115
- 115
OltsEsdERR B+ FHIRY 6,082
oJtEd 60,0002~ 12 720
= 720
SRR ] 140,000« 12& 1,680
= 1,680
oAg x|
175,000 *(35/40A124) * 12 1,838
= 1,838
oS+HIrY 92,0102 128 1,105
= 1,105
oG24
23,003,000 /122 »84%+86%+ (1/30)*(1/7 Al 2H)*
" 739
2AI12t
= 739
Jl=3H| 56,271 62,592 26,321
SAI123H 56,271 62,592 26,321

_41_




SN JEs=D
A HYRAZHIOISH=1)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 9,639 9,072 567
01 At2teltl 9,639 9,072 567
OJl=ei94s S|
8,000 x3A!x17&x 12 4,8%
ORM2Y JIZ2+EH| 279,000 %174 4,743
202 04| 42,432 49,920 AT,488
01 =LHOLI 42,432 49,920 AT,488
OJlzgf==d 0|
260,0003 x17H 122 +80% 42,432
203 HR=H] 4,200 3,600 600
0 FAZSLRFAI 4,200 3,600 600
ORMEAZ2E 350,000 * 12 4,200
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